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GENERAL INTELLIGENCE & REASONING
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25,
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g IS does it take Roshan
y wors iF his regufar speed of
: + words per mipute 7
A8 Yix

(D} Y/60X
e of five friends a, b ocode
ﬁjﬁme age difference of 2 vears each
gdd upto 60 What iz the ape of ¢ 7
(Ay & 12 ()14 (D) 20

From the given alierpative Wdrds,
select the word which cannot be
formed wsing the feiters of the given
wird :

SALAMANDER

{A) LAND DAMN
(C) SEAL TIND

From the piven alternative  words,.
select the word which can be formed
using the letters of the given word.
MEASUREMENT

iB)

(B) ASSURE
(C) SUMMIT (D) MANTLE

How many meaningful additional
English words can be formed from
the letters in word ‘FACE" using
each letter only otice in cach word 7
Ay One - (B} Two
(T} Threes M MNone

If in cemain ode DURADIARSHAN is

wiitten as CVQBCBOQTGEM. then b

TELEVISION can be written i that oode T

(A)  SKFUIRONTI

(B) FIKROMSPIT S K

(C) SFINROKTE — of %
SFREITRING

If in : cettain code LITERATE is

writlen as 21643864, and DATE iz

wriften as 9864, then how ‘RELATED"

will be wiitien in that cods 7
(A) 5428969  (B)  SGoasaz
(B 4592646
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35, A man goes lowards Fast 5 ke, then

3.

32

he takes a tom
goes 5 km He

towards Narth-W, | goe;
t1o.the poinl from where

WItH ras
he started, whers
(A) - Imthe West
{B) Inthe East

(C) At the stars

{DY 1In the Nocth.Eacy

ey Soumtl-West and

again takes a o
E=l and gocs 5 km,

is be now'r -

point

Sally walks from point ‘A 4 kg
towards Norh gnd fums 13 the lefi

and walks 3 kn

i1 From that point

she walks straight (o the starting
point A, What is the o) distance
Ccovered hg’hﬁ' (in k) 7

LAY 12 [B) 5

(C) 10..4D) 14

One statement is Erven fallowe] by b
arguments () and (1), - You hove 1o
comnsider tha 5

E 1o be true, even if

it scems W he ait e froen
commaonly - known facts, Tﬂ: are &
decide w xhnfﬂr&gimafg'unmtm
definitely- be draan from, the  given
Statement - Shuwild new
uriverities ©  pe
established in fndia 7
Argument () : No, we have to fage
the problem  of
highly educated by
unemployed youths.
Argiiment (I7) - Yo, at will Ijp to

achieye.
larget,

litéracy

nly Argument [T s lrong.

(A} Only Argument I is'strong.
( ;""‘U

Either T or [

L are stropg.

(D) Meither I por I s Slrog,

3o,

4.

Four positions of 3 dice e givern
below, Identify which number is on
the face opposite 6.
Question Figures :
T

{A) A1 (©31 )2

Find out which of the figures(A) (B)

{C) (D) can be formed from the
ieces givén in guestion figure,
uestion Figure :
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- [Q o/

@)

Answer

(A) ; (D)
41. How amany trigngles can you find in

the diagram below ¥

EI.

(A 16 (B 17 (©) 12 (D) 15
42. Which of the followin didigrams

represents  the oo reldtionship

bc-mre-;n Camivires, Animals and Tigas ?
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4. In the given figure, circle spands for
ciltural cluh, triangle Slands  for
sports club and rectangle stands for
music clyb. Show wha I1E I fousic
club, a5 well ag cultural chub and not

insports club - "IFH-H e
1_"\.
" B o
o [
o
(A) g F'-f
© & =

Directions : [p Cuestion Nos. 45 g 46,
Which answer figire wil] tomplete the
Pattent in the question fi gure 7

45 Qmﬂﬁn-f‘iguru -

EEEE

A @ )

47,

48,

From the given answer figures, sejeg
the one in which the question figyre
is hidden/embeddeg,

uestion Fignre -

(D) _

A piece of paper iz folded arsd cug ag
shown below in the Question figures
From the sjven answer figures,
indicate how i1 wi) Bppear whep
opencd. '

' o
LR el
b

{A) (B) () i)

4% Which of tHiesnswer fipure iy exacty
; . the: mtirror imige of the Eiven figure 7
'-If.l- QUE‘E“UH Elg[tr‘:’: Quutiu“ F'igure ]
Answer Figures »
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S0 A word is repiess
ufnumh:rsasgmummyom of the
alternatives. The sels of muinbers Eiven

m the altematives ae e
two classes of al
matsices

anxd

nied by only one set

Fu'l:senl!l:d

abets ag i b}
e e mﬂuﬁ’
Tows o e numbere
0 to 4 and that of Matrix IJ aru

tumbered from 5 t-:r'? A letter fro

the:ac.: matrices can he

i!

[{'dfr_'.'.r
5 rovwe amd ﬂen.tgp fits m!’rmua B,
eic_
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5
called “wing' “wind! | cﬂ“rd '1. m
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Had
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43,

45,

4.

Kartik is ranked 14% from the
and 1‘,’5 the b-mmm amunp
:hme wha gassmd in the class test

& students aled, what was the IDI!dJ
Ejumh:r of sm:hn who appeared

& Examina
{A) 45 [IS!]I 33 {C} 46 (1 50
Unscorarnhle the fioll Jet frame
4 meaningful m'f!l!.l]ﬂg:n ﬁﬁm ot the
Comrer! nuvenical position of th lefiers -

NEIFLUGRNDM A

1 234567580 LA
(A) 123456780 1p

B) 79106543218

;C]I 9865352471 7

)] 92]03317-165

Select the ¢ pﬂmr from the

alternatives - If 4 J’zm. 2008 Talls on
F!glrdn}', wha[ 1q.a;.r of week will fall on

Y, @ b
a unds
ter 1 l:r:lu}-:k ?& what time hatt!:'n:en

T am & 8 am wil the  hour and
minutes hands of g clock paint in
nppusrte dlIﬂi:l[{l-I‘I: * :

{h}_ ﬁ“::‘-rmuurgs past 7

Elé,; 16 minntes pasi 7
mum:h:s past 7

hcﬁ'.-}r ]:s r:al}cd PSR, then whai (D) !ﬁl-i mifttes past 7
is the colour o idn .
A7, 'Lampuage’ is refated 0 " Clommunicition
2 ﬂ Hl Eﬂg ﬁ{g‘.'_w.j mmg & SAme way e Whine” i rilated 1o
=i HE 'y (A) Tie B)  Electricity
40, If MAN s 28, then RAN wo uld he (Ci Lizlat -ED; Fuse
(A) 30 (B} 33 {C1 43~ {D‘I 33 {4, F|r£:| [hc '.|.|un§Enu:nb¢L in I:I;e series ;
d1. !f bﬁul i, then quihor, L
& b bw T o) Bxw 9 5’“3 s 45-5 ﬁ;:f-as
11: I:-wwltx wlgxt el E‘”'"'t‘gl
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42 Six pecple A, D, CJJ E and F are g u:ulm&dﬂu:rwcrb-:d -1F the breadth of
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};J C‘ dc»exg twnmm-u:n:xg;%ﬂm =7 s 15 f'n:fm r|:|l:| X 5 Dy 3
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GENER."LL:_’:.WAR_ENESS
3L Which of the followine ; o
¥ WIRE 15 ot ML
AR)  Free market policy A)  a High Count
B 3 iB) & 8ub Cour
(B) CRR Lot
(C) Bank Rae (1) ﬂEﬂsm::l_Cnun
O i . (D) &n Administrative Tribunal
ANge I margin requirement . 59.  Usually a big difference is seen i
= B 2 il
52 In India, the interest rate on savings fmﬁ?w;“‘j. fmehcoin
AeCOUMS in  all the nafonalized Graﬂv;:nmtﬁi oty a
commeitial banks is fixed b B Rateie s 3 s
(A)  Finance MinistaF of Inia © e
(B} Uni_nn.FInnnn:: Comission - Government %
()  Indian Bank Associstion (B Socialist type of Government _
{Im Reserve Bank of Indis 60. Comptroller and Anditoc Genegg] i
8013 a5 a friend, Phi] apher ﬁ];’l—emm
3 Pe,-lg;ging up of a currency means (A) I;ubt'n: ﬁlcmuﬂfltsl:um-::i. i
ﬂxlng the vitlue of a ':UFI'E‘;T.iE:‘JI' ’ I:.-E.] Eﬁﬁmau_:g C':'mﬂ'l.i[lﬂ: E e .
(A)  at a constant level ALY Finance Mimistry
(B) | at 2 lower Jevel D) Comrmittee-" "on public
fc} al a high.gri.:-,r-,el Uﬂdtrﬁi];"'_!gg e
(D7 Teaving it to market forces 1. How liberty can be limited?
:4: h-"T _ (A) By Rule - By Law -
= fie Oil seeds Production Progranime (C) By F;'uih-u:;riv( (D) By Bqualit
{OPEY w R ¥
was lagiched in .Y 62, The i oy -
(A Lo |-|.'T g s furst meehng  of the Indian
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! LAY Sho PM, b
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ey Al ) - the clection of the tribal chief
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wrongly matched * ~ 7 . AET Gana D). Vidata
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(O Pundit Jawabarlal Netrw _ | () A gy 8 distinctientity ?
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r 1
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3lash and burn agricultuce is known

as "Milpa® in

{A) 'nmezuelu

(B) Brazl

(T} Central Africa

(L} Mexico and Central America

Grawth rate of population means
{A) The difference of growth
between male and female,
(B} The difference in apultation
G Between urban and nmm.
(C) The number of bigths per
thousand people,
(I3 The difference between birth
and denth rates.

68.  Relative humidity is expressed a4

67,

(A} Grams (B} Kilograms
o AED - Percentage (D) Ratio
6. Metamorphism changes rocks'

(A} structure

(B) rexture

«4€] both (A} and =Y
(DY aceoal chemical COmposition

0. The region famous for many kinds of
wine and champagne is =
(A} Easiem Etirope
(B}  Western Europe
(X1 Medilerrancan
{10} | Glass land
T1. Crossing-over occurs tluring
(A)  Leptorens (B} Zyrotene
(€0 Pochyiens (D} Deplotenc
72, In which ofthe following multiple

cpidermis is found ?
{A) Bocrthaavia  (B)  Amaranthus
(CF 7 Helinnthus (D Memiom
3. Blood cancer is commonly known as
iA)  Levcodenma A
TS ek acmia
o “Hacmophilia
5 (). Sicke-cell anaemia

T4 Thesefirst . seaBle pioduct  of
photosynthesis i . .o
(&) Starch g . L.
(B} Sucrose T
| ijJ “Phusphoglyceric acid wE
\_ADY  Glucose
75.  pH scale ranges from
[A) 07+ S (BYTE-14
i) -1 = (D" None

DA2ng

I

T6 When a single Eeme contrals  the
expression of more  than  ope
u{:ha:ac}ti-sr, 1t i said tq:EBbe

A eterotrophic (B)  Avtotrophic
,jf)}’ Allotropic (D) Pleiotropic
A paal gas can act 45 an ideal £as in

h pressure and low temperane

H) low pressure and high temperature
(C)  high pressure and high emperatyme
D} low pressure and low ternperanne

According 1o special theory
relativity the mass of a particle
(&) intreases with  increase
velocity  with respact  to
server, J
decreases  with
velocity,
d2cs with  decrense
velocity,
is independent of its velocity,

=77.

af

{B) increase

()
L)

The motion of the wheels of a
bullock-cart  whils moving On the
road-isidn example of- :
A Dscillatoryand rotatory motion
{(B) Oscillatory™  and translatory
MO0
(C)
(D)

Transkatory
« TTHELEON ryet
Translatory mation anly
I':'Erh:ﬁtupc i3 an_jnstrument used to
detect the ulcers in thestomach has 1
o= narrow  wbe (with a  small

™,

ienid TOERGry

glowing bulb at ane end) which is
Fn'.wniﬁ in 1o the stomach through
the mouth containg ,
{(A)  small current carrying wire
(B) a maimow mbe contiining waler
_/FE‘} uPtll’-.'-“l IJI'.H-E IR I )
) B nagrow mbe confaining some
chemiical sblution :
L l}l)e‘[BM-DDS’ isa
‘”"'f* wingle user operating system
B) | Multinser oper; ing system
(L} Batch operating system
(D) Time-sharirEope dlng aystem
8. The new ‘technolopy: which is
fng ingin the: ficld of computer is
_[,{E_]. :j'l:'._*tﬂtl:mplﬂgil_ S
- iB)  Paralletprocessing system
: {_E} Semiconductos technology
) Tfﬂp!]ﬁfﬂ!prtg:h__l]ﬂln;}f
83

Irom mists quickly in

AA)..Rain water  (B) Scu-:-.i-'mer y
(C)  Distilted water (D) 'River water
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847 “Tion is -.-:ntnd&mmﬂﬁymﬁng 94.  Find the incomect match amotlg the
wi This process is as

¢ i ; followings -
Galvanisation (B) Corrosion r .
{s:j] Sublimation (D) Reduction Sir Syed - Ahga;h -
U5 Ancamd I R, Muntza Khan Mulr-:ilm_
(A) S0, (B) N'Dz University
: : (B} Dr. BER. - Ambedkar
(& H, . i o, Arnbediar University
86. Magnetite is {C) P Jawaharlal - Jawsharlal
(A) Fe,0, - {B) Fey0, Mahrg Mehru
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87. United Nation’s appreciation  for (D} Madan Moban — Banaras o/
© better management  of  cyclone, Malviya Hinduy
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BY  Andhra Pradesh 15 given by the Indian Constitution
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4B Odisha e (A) 364 (B) 368 (@1 370 () 377
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Part — |
QUANTITATIVE APTFIUDE
LT

101, There is one number which iz formed 106, The paralle] sides of a Irdpezium are
oy writing ome " digit 6 times 30 ¢m and 20 ¢m and the ares of it is
{eg "1HIN, 444444 ers), Such 430 emZ . ;
number i always divisible by 20 e, the distance between the
(g (B} 11 parallel gides j=
(C) 13 (D) All of these {A) I6cm ) 18cm

102, If zFy= 2+ vy £ 1, what is the ; () 19em @ 2em
D . "107. To raise the height of a low land,
' 3o 48 m long and 315 m beoad, to

3 4 10 6.57dm; a diteh: 27 m long and 18,2
A7 @3 (© 3 O W m broad, was dug in a side plot, The

L03. If B mencan reap 80 hectares in 24 depth of the ditch willbe

days, then hnwi]mny hectares can (&) 2Zm (B} 21m
. men reap in 30days 7 E=oll . ey -
(A 350 (B) 400 (C) 425 (Byas0 - © 22m b,

1. A can do a piece of work in 14 days 108. A cylinder has 2 diameter of 14 cm
which ‘B can do in 2] duys. They and the area of its curved surface is
Begin together but 3 davs before the 220 sqem., The volime of the
completion of the work, A leaves off. cylinder is -~
ET'.:E?L;I igumher of days (o complete (Al 620 omd (BY 670 ¢’

1 | {C} 707 em? Whem® -
(A} 65 days (B 85 days 109, A trader givel o swccessive
l 4 discounts of 15% and 0% on the
(€ 10s days (D) 13; days mitked price of an aticle, If the

105, A cistern can be filled by two supply :ﬁi?i price is ¥ 763, the marked
pipes in 2 ming and 30 min : :
respectively. But a waste pipe can (A} T 850 LT € 1,000
empty it in unhour. Both the supply iy TEOD o
pipes were opehed together tofill the i
empty cistem, but by .mistake the 114L A hopkesper eams a peofit of 17%
wasle pipe was also open. How much - o0 selling a book at 10% discount on
later was the waste pipe closed if the the printed price, The matigof the C.P,
cigtern is filled in 14 mins 7 o to the printed price of e book is

FUA) 6 mins (B) 8 mins (A¥ ' 9:17 i "By 10: 13
(€} 10mins (D) 12 ming @ 13:97- = @) 210:17
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DA-2013 102




HhimmTERE sfiret

101, T e ¥ B e Et s g e
R S E (S c 111101, dddddd
i) 3w Ferave i d
(A} 73 (B) 1A
(C) 133 ﬁﬁﬂﬁ

W2 A zry=rt+ vyl T EaeE e
TG 7

- . 10
(A) %.ﬁf‘ €5 o 10
lua.uﬁsmﬁrmﬁ?ﬁsnﬁmqﬂ
&, W 36 el 30 B 4 e

"-ﬁ%aﬁmﬁ%q

{M 350 (B) 400 (C) 425, BF 450
104, A T w w14 T O o b
B, 21 B o wr e E A oeam
wE S E oW wm g th o A
W ATE I E | A WA S

Vo ol =T ot W &
() ﬁ%'ﬁ:‘-“r (B) 5%&#
ﬁ"!ﬂlﬁq () 13!1%:?

NS o E 3 WA T 2 e 20
.Tﬁmﬁﬂfﬁﬂfﬁwa:m% i
L T A T S U A S
] & | wd At s e g
el T e R R

106, o% ware (2df ® W g

30 em TET 20 ¢m € A I EEEE
450 cm® %’H‘H‘Iﬂ""]‘mﬁr"{m?

_ (A} léem 487 15am

) 19cm (D) 20em

107. U% 48 m wdl 3T 305 m @ FE
gitt = T 6.5 dm 7 e % A,
T I = e & 27 m e #1582 m
wigl g e e e
AT 2Zm (B) 21m

(Cy 22m ¢ (D} 25m

108. 7= AFT wT = 14 cm & o 3 w5
U= SR 220 sgem & 1 AT W
A

(A} 620Tm® (B 670cm’

{C) 707 cm? fﬂ"’??ﬂ tm?

109, v =AWET Tl #w & slien gy o
155 2 106 3 51 Fies T2 g
T 3 fowm g T e & A oifea
T ]
(A) T 850 % 1,000
(Y T ROO "gzm

Jlﬂ.ﬁﬁwqﬁﬂmwaﬂ%ﬁ

o T A R W e @ T et ar T s 35 1759 WA
Eﬁﬁhmwm o 14 fe LS R e
SET A ? e S AT S T
Ay o ) 8% (A) 9:17 _4BF10:13
S 10 (D) 12fFe © 13:17 ([ 10:17
- Tw T e

IO 2

A anf LT

Rt

e i R S

as o



111, Whig selling o wpe & shopkeeper
- Sjupg i dizconmt pf >, If he 21ves g
discount of 7o, he eamns ¥ p5 fess ng

profit, then the Warked price of the
Watth i

{A) 7T 69750 (B} ¥712.50
{C) 2 787:50 Dy 7750

112, The'ages of A ang B are in the ratjp
32 L Fiftpen Years hence, the ratio
will Be 2.1 1. Thajp Present sges (in

als).are
Al 45,15 (By 21,7
{2y 30, 10 (D) &0 20

—_—

134, The Verape weight of nine T TEr
. Increases by 20 E H one of them,
weighing 20 E 15 mpliced by
anothier, The WEIEHL of . the peur

AnAnga iy
(A) 18y (B) 200 o
LT il g (D300 ¢

115, The WErge: ape Af 6 PEIsmms in g
EOmnkee g INCreased by 2 yenpe

£ Years are SUR T o] by g

" Wioingn The average age of hese

tWo woren' j3 _
- A27 yieagg ) 103 vears
Ak 358 315 years'
] FE CERERy

6. A si;twi.-eupe;chﬁa;r? 0 the exient of
209 while I:-u:.rj:.:g a8 wel] ag selling,

by Using false weights. His o] sain js
(A)-2p 4 {B) 25
(84 G TE (D) 34

H7. The population of & village is 1.06,000,
IF the populatiog increases ar 1o per’
anmem, then the Population ar the gpay

Year je
(B) 1.21.000
© 12000 1,10,000

8. Aear cap finish 5 CErtain Iourmey jn
10 hours at the speed of 48 ks per

- By how muc); should g speed

be increased 5o that it may e cnly

lravels one foury op the distance g
10 kmihr and the remining digtanes
at 12 kmyhyr What iz the distance
{in km.) between Pand 3 7

1A) 70 @_‘gd 1 72 Dy o

120. e comporin Nerest- on T 8000
0% per annuin,

1
COmpoanded half Yearly for I5 years i5

(A} 1000 (B) 7 1.100
T1.200 (DY T1 26

2L W35 4 s 5 divided by (x + 1), ha
lemimder jg

-TALD (By | (C) 49 (1) 50
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(T} 1,20,000 (0 1,10000

118, o= T 48 kms 0Td S8 59 T & R
A0 10 92 H g FT qEan | S
TR TRl ST S e St 81 30 T
wH ST gdE e 1
{A) ldkmbr. (B) 13 kmhr.
{C) 10kmmr. ¥ 12 kmtr,

—119. wF AR UH WH P A 9o & Al
7w F QT W agE WA | A
wwﬁhn%mmmwm:am%mk
12 kanhe T 1 P 20T O # A
e g E km. 3 7

(A) 70 88780 (C) 72 (D) %W

120, T 8,000 TF AW TH T At 10%
vfivErd it e l%aﬂ’rﬁaaaﬁ:amt

(AY 7 1,0 B T 1.100
(Cy 71,200 AT T 161
121, TS 4 51t o+ 1) & Frofaa fen

G R L

(A} 0 (B) 1 (Ch49 B

122w x + y =330 x—y =1 dtay®

AE2 B3 (©4 (D)1
123. kmﬁmﬁnﬁ%%qaﬁmmﬂm
By Sx-kTmrgt s 2TALE
(Ay 16 (B) 18 ~(C)24 ﬁfaa

T T R

L2

DA-2013

o

7 e T RS



124,

125,

126,

127,

138,

128,

135,

tff + ;_,"5= =1 {x.y 2 0), then value of
_13—-}-'31'3

»idd
(AY1 (B) -1 @©0 @) 5

If the graph of given linear equations
Ix+ky ~ 4 =fandk-qy 35
coineides with each ather, then the
value of k i _

(A} 3 (By4 € 3 @ —
If x, v and 2 arc real fumbers and
tr¥+r=Tadaysyr ¢+ oo = L4,
then what wi 1 be preatest valge of ¢ 2
A2 BT OB s

IF a — EI:: = & then the value of

B it MR
[n + 432_] [ﬂ Ei}]l!
) 315 ° (m) a5
) 225 (B [80 ]
If x = 30, then M less tham
o ~ 10%) 45 equal o
(A) 160 (B) 270

(Cy 670 NLM:%/IEE'
If the centrgid riangle is G

and MG = 5 cm, thap the mediag MD
ImoCn s

(AY 7.5 (B) 7 (0) 65 (D) &

If the point ingide 3 trisingle are
equidistance from tha-vertex of the
same triangle, what the name of dyar
pint is 7

{A)  Incentre
(C)  Median

B} Orthocentpe
D} Circumcentre

I31. Angle B ofy parallclogram ARCD i5
60°, the other angles are in the rurjo

AcCrTa
1:2:
2

I (B} 2:1:3

Cy 1:2:3 (B 2:2.3
132. The length of the direct commen

tangent of two circles of radii 2 cm

and 8 cm is § em. Then the distinee

between the centres of (he circles is

(A} Bcm (B} 10cm

(C) fem Dy 12em

133. If the CIRimCEntre m" POR triangle
is ‘0 and OX | PO what the

relation between P and X is 7

(A) -PK>QX - (B) PX=Qx
©) PX=QX (D) PK:%

134. The angles of & iHangle -are {3xy®,
(2x — ?,'I"'-al_hl“{fl:_'—'F 13°, the value of

xis
VAT T8 (8 20 (€} 22 (D 30

135, AABC is right npeled a1 A, IFAB =24 mm

and AC= Tmm, then BC is

CA) 0 LBr—35 mim

1) o (DY 35
136, In 4 AABRC, the medins AD. BE and

CF prasses through G, If FG = 3.5 i
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Find GC,

(A} Gem (B} 7em

(C) Eemm (D Dem
137, The leastvalug of cos+ secg 5 .
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(0 D) 243
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wiAFdaghk _
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The  distribution
during 2005 is given belaw -
Hisincome = 7 LBO.0OD in 2005,

Stody  the diagram
0 Nos. 148 to 150,

and  answer

148. HanTLach did he spend on medicine
(in T} 1 :
(A} 000 (B} 11,000
149, Hijz EXP, On petrn] gz what % of his
EXp- o0 fogd ¥
@ g%y g
{C)

130,

d:d}nasgmd on mecicings in 207
LA} 108 L 5 I Ty T
L T - (DY 116w

FOR VISUALL Y HANDICAPPED
CANDIDATES ONLY

144, The siaflag number which when
increased by 17.js exactly divisibls
buﬂ:szt}and4ﬁs_i_g

{A) 4663 " (B) 4680

{Cr 4883

of  James, Expenditgg:

145,

146,

147,
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L4,
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A —16 By &
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SYCRge temperatire for L day, ¥
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Part-D
A ENGLISH CGMPHEHENSIDN
Directions : In Question Nos. 157 ¢4 155, Directions : In Quesion Nas. 156 1o 16,
- 0me parts of the sentences have errors and SCMHENCes are givey ¥th blanks 10 be filled i
ooz are correct. Find ou which pary of with  ap PRIOPEIAE  words(s), Ry
sentence has an error and blackep the oval alternatives ar suggesied for each question

i tomesponding 1o the EpprOpTiate
letter (A B, C), IF 5 SERence is free from
eror, blacken the vl eortesponding 1o
(D} in the Answer Shest,

T Whensver thg}-‘;ﬁu_ n:.nrtIII )

EMEE'HE they

T

take their PEL cat with IJ-.\ean-u.llr
() :

Mo error

() ;

The musuem Je i-::l.illl

——=stem depicis
(A)

fhe stngl of hugman king 4

0t ting ang 5 dce. . Na error
(©) o

You must either ¥y tha I:u'lllf
[A)

BLonce else repurn
A8

the voruls imieediape] Mo emor
—= Wilinediately, 10 emar
() T
Ench and eve e of s o :_ t5
: LA
15 edpected to Contmbarta ;
] )

o BEmetously to the eause, No error
CIRELE e o e
Ezch person hold H,r

155, Ay

1n frost from Gad to I
) /
thie g0od of mankind, " Miwerror
) o)

DA2013 -

152

153

154,

28

oval (@] in the: Answer Sheet,
ES6. We shoglg Pass a vole of
A Aenzes (B)  censurg
CEnsiks (Y censor
I57. Children ofteq el
Detty issoe,
(A} with (B) on
S over (D) for

jEE. We threw oy some old furnftare 5o

that the pew television e
enoligh spare.
(A has (B have
{(C) had LP_{D_-}' will have
1533, Afier she died e had nothing 1y Jive
(A) for (B} at
{C}  through () fram
16, We M hope thae things
will improve eventually, S
A} Tive (B)  bring
(C)  siay M sorvive

Directinns = In Question Nos. 161 1o 163,
vt of the four alter 1alives, chonge the ane
which best expresdes (a meaning of ghe
Eiven word and mark it fhe Answer Shee,

161, Commensyeye

(A)  Rationa) {B}'_. fﬁp,pn::-.'t:im:te
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162. Land A
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A,
Digections @ In Question Nos. 164 to 166, Directions : In Question Nasz. 172 o 181,
choosc the word ‘opposike in meaning to e A sentence / a part of the sentence jg
given wordrand mark i in the Answer Sheet, ulndarlin:d_ Below are given alicmatives io
i | e e the underdined part at {A), (B (C) which
s E.'J,ﬂ'mimb- . “Tﬁf’;mreti'.': may -tnprove the senfenve, -Choose the
(C) Uﬂﬂcﬁajr] (D) Misleading correct altemative, In case [0 iMProvement

15 needed your answer is (D). Mark wour

165, Homanity answer inthe Answer Sheet,

| (A Hun::ap (B) Friendly s
, G Bruwslity (D) Haughty 172. 1 wishwas on a vacaties,
166 Acquic - (A) am, '
- {A) Judged (B} Locked B were
€Y Conviet (L) Caug]g; () went
Directions 1 In Question Nos. 167 o 7L (D} Neimprovement
four  alternatives  are given  for  the y 4
Idiom/Phrase undedined in the sentence, 173 Mumbal j5 better to any agaport jn
Choose  the altemative which  best Tndia,
=T expresses the meaning of the Idiom/Phrase (A) s berter to any ather seqport in
= and mark it in the Answer Sheet. —_ (B) _was betier to any of seaport in
167, John is highly qualified For ihe job Ty s better than any other seaport in

but his indecisiveness will be his (D) Mo improvement

Achillés’ heel \.FE'i’r -
(A}, Downfall Yulnerable pofnt : . ;
(C). Main setback (D) Suenath 174. T‘he_ﬂr"ﬂmn hombly was agsuring

hiim thiat he meant no harm,
i68. The proposals were hanging  fike (A) insimed u
Pamocles’ Sward over our heads. — T il
L&) tosimmediately work very hard - T e m e
and successfully’ ar- a pew o) H'T-Th'_ﬂ =
activity { 0 IOy Cment

(B} to become oo excited and

cager about something 175. By the time { geceiving she lester, the

ﬁf""“ impending: but wncertain date for the im-:n-j'ew_. was already
e danger L e e
(D) - soincthing that yog say in order ) Lreceived the letrer
0 efmphasize that You apree with (B~ ;m;[m:.g;pmgf}msm:gr
o what someone has just said (C) Twas o recéiving the letrer
IHD,}HI'cw'ﬁptmwcﬁnﬁm thie lefier. (D)~ o imgesvement - B
o _AAY inwhbRg 0 s 2 P TN S B .
T RY, Tirerally and stricily : , 176, Dcspim#&h?g’thé'ﬂa_ﬁml'iigq'l
{C} forever i ' the young boys jumped” over the-
L ey T h sl o fece. - cud X
120" He gives himselftbe girs of a rich man, (/) resingted zone . ° -
{A) enjoysbeing . Vs %ﬂ_@%kgmﬁ- .
(B} tries torhide the fact that he is : (C) protected zone

A€}~ pretendstohe - il
(¥ ]:u:-azitsmomttwﬁaut_ thiit heis:

171, WE-I-EEI -"![Cr II! “I'BEE[ ju_st Et’_':ﬂus'e: -I-T?. M’E“'{mﬁrﬂd Elf.ﬂ'l_'l_s. HEUE::E-E- ]d_-i_-ﬂg

(D} . Néjmgrovement

the accountant dvilge our secrets. raind: i @
(A) fail iﬁ"pnr;"ﬁmﬁ L L,;Eg;r” incessant _ .
oABY. . land Inmgible T e e AMRRENt s T g SR
t”% , tokce the hetp'tf " 0E ol €C Conlinbous  uoor. o
(D) ' come'to nothing 7 0T (B9 No'improvement " « :
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spe

(B} More they eam, the more they
spemd,

(C) The more they eam, the more
they spend.

(D) No improvement

179, 15 felf by a cup of teg,
(A  was refroshed s
(B}  was refreshing
(T} refresh
No improvement

~180, There was po Sugpesiion that he

- leader should resipn. -
AT Expression . T —
(B)  offer
10} degire
(I} No improvement

181. ¥on cannot  avoid o sSpesik i

i0metne when you both live in the
e howse,
(_tAl—speaking to someone whei you
both live in the same Bowse,
B speaking somieons when ¥ou
th live in the same hoyse.
() speakingowith someone when
we both live in the zamee hooge,
(D) No improvement

Directions 1 In Questin Nos. 182 to 188,
ot of the. four altérnatives, choose the e
which cain be substituted for the Eiven
wordsfentences  angd indicate  jt by
blackening Hu:,apgrﬂguint? oval (€] in the.,

Answer Shi:r:ll:

a
1]
.

182, One who believes in fute.
(4) Believer }"""ﬁ;tg_liﬁ't
(Ch Agnostic } Sm:‘pLi‘E

188 Do who ks ki the beight side of
- things. )
(A)  Pessimist (BY  Pacifist

Jf(@j"’ Oiptimist (D) Humanise

I84. A list of dishes,

(A) Cuisine. - (B), Dessen
() Buffet B Meny
DA2013

1.'-._-_‘:!-
pRANEE

I85. A w08 whis lives by hirssalf
(A) Bachelor —Tﬂ?mﬁcium
{C) Spinster ([} Priest

186. Smuply self-satisfied.
EA) Responsive ;
(T} Jowvial (D} Wiy

187. A person who makes 3 scienfific '

stody.of birds. ;
t—éﬁ}'_ug.‘-.ﬁﬂmlngisl B)  Orthodonrist
z (€} Anaesthetist (D) Asmﬁgh}ﬁmt

188, Havifeg to do with artistic beauty,
Aesthetic (BY  Excéllence
(C) Artful (D} Creative

Directions = In Question Nos. 189 & 140,
four words are given in each fLestion, out
of which only one word js commectly spelt.
Find the correctly spelt ‘andmark
Your amswer in the Answep Shesr.

189 (A) tenasious () tenacoius

B [L‘,I'L;]_l:':.il::ll.fs (D} tenecious
190 massacrs.  (B) nasacre
C} ‘masacere (1) massacer -

A ; :
Directions : In Cuestion Mo, 191 0200,
You have twg href Passapes with 5
qieestions fol lowing each passage. Read the
passages carefully and choose the hest
Iswer [ each question out of e four
alternatives and mark it by blackening the
appropriate eval (@) in the Answer Sheet,

Passage' ~ L{Question Naos, 191 to195)
The third defect of gur civilization is that it
docs not-know- what o do with . its
knowledge, Science has . givey up WEES
fit for ﬂ‘f?gﬂd%}'&t Wi u&glml:ip !ilrl:ppsmtf
children. For example, wﬁ_\du-'nuq,._ﬁmw
how to manape ‘our machings. Machines
were mads o be man's Servants; yet be has
EFOWD 50 dependent on themithat (he are
o fir wayn. beconie s - masters;
Already most men spend- most of their
lives ing - after “and ™ waiting : wpon
machines, And the machines are ¥Ery slem
masters. They must be fod wily coil, and
given petrol to drink, and oil to wash with,-
and they must be kept ar the  right
tem?:l:mi:. £n.:r if they do not get their
meals h ey expect—them, they. prow
sulky and- refuse to worky or burst, with
rage. aod blow -up, and spread mom and

PITLAY 2
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testruction all around them. So we have 1o
wiil upon them very attentively and do all
that we can 1o keep them in a good temper.
Already we find it difficult either to work
or play without the machines, and 3 fime
may come when they rule us altogether,
Just a5 we rule aniimals.

And this brings me to the point at which |
asked. “What do we do with all the timg
which the machines have saved for us, and
the new energy that they have given ng 7
On the whole, it must he admitted, we do
very Jittle. For the most part we use oar
time and energy to make more and better
machines; bt more and better miachines
will only give us still more time and more
coergy, and what we do with them ¥ The
inswer | think, is that we should ry 1o
 become more civilized. For the michines
themselves, and the power which machines

have given us, are not civilization but aids -

io eivilization. 2 iR
191, How do we use the power Eiven to ns
; by Science 7 = B
L=y Intelligently -

(B) Like small children
() Like machines
(D) Like a scientist

12, What were the machines made for?
A For serving men
(B} To be stemn masters
— [} Togive us extra time
(DY To make other machines

193, What are the niachines trming out i be
(&) Man's servants :
= (B) . Better machines
!:_‘_:’f?' 5= The maters of men
DY Togive new encroy

S S8 severe climtid oy
ST unfavourabls topogs :
<-(D¥ - harsh climatc “conditions or

Passhge — IT (Question Nos. 196 to 2000
Most of the produscts that humans Tequire o
sdtisfy their needs and desires are obtained
from land. Land provides living organisns
with food and shelter. It provides for the
bulk of human necds and wans such as
food, clothing, housing, ion ete,
Land covers only 30 percent of ‘the toral
area of the earth out of which latpe parts of
it is not suitable for habitation die fo severe

climatic . conditions or | unfavourhle

topography. The density of the popylated
regions is confined to sub-trofiical and mid-
latitedinal zones comprising of abowt 66
percent of the total populaticn,

196. Most of the product that humaiis
require to satisfy their needs and -

desire are obtained from
(A) man-inade goods -
(B)  water-bodies

{CL industries

| landd ™.
197, Land  provides

(EamsiE  with

(A)  fruits and vepgerables
BT food and shelier
() air and water
(I shelter and protection
198: Land covers only % of
tal area of the earth.

the:
L;,{.a;rlgsﬂ (B 3.0 (C) 03 ) 35 _

199. Most of the land is not suitshle for
© - habitation duety PR

{(A) severe climatic conditions or

“efavourable topography =

(B) pleasant climatic copditions or

; favourable topography

lions o

unpredictable topography

3 7200, Most of the population fivesin
il oo (A 'Botareas

TR 3 .
Pt i
. ’ "

cold areas

(B)

T clhenes v
< 0D Dl anid-Tatitudinl zoues

Sub-tropical ; _F-“!:l.:}dllhlilgudi_rrxﬂ :
S,
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
I 5 Al fEi

Drérections : Each question or incomplete
statement 5 followed By four alternative
suggested amwits or coanpletions. In cach case,
o m’re.qlﬂrnd b select the ané that cormectly
aRswess s the q:.muun or completes the statement
and blackén [@] Sppropriate oval Ay B, C or D
by ]]I:u:i.l'ﬂlue Ball Point Pen dgainst the
qu-:.sm":m mu:ml:& in the &n:m:r i.

{For ‘?H. chp.ﬂht:ammmnudlng oval will
be h.[ul:]lmntl b_r: the scribe)

The following example illusrates the mammer in
‘which the que.gums &n: requined tnth: answu‘n-:l

E'.:mmpk

Frkar . W WY SR el ant T O O W
T ] e S S | M S O e
et T B < = W S T A T
W 51 WL S ST SR SR SRR
uH A, B, € WD 5 Wil Gt i 9
aﬂm[-]mtl

Mmﬁthﬁmmﬁﬁw

2 Irrrmrﬁmrm )

=T ey ey 2 v o B e R
Brard

Duestion Mo, ‘0. - _ mﬁ_ *HT_ i

Ot of e four wacds given below, three are alike =i'|a" Fmvﬁﬁﬁ?ﬂaﬁﬁmﬁqmﬁ%mw

in some way and one is different. Find the ODD ; %Wmﬁﬁﬁqﬂ = qﬁ

i e _-{‘i} L :

i p ) wEH i
9 ; (55 pagiba i
L [l;:]- Woiman 1
7/@; (D), Chaic sABY FH i

Erp?-u.gaﬂan {E‘nﬂ.c ubl:rm:*l:xum the correct:f Mﬁmaﬁr ‘FEr £ HT
AEEwer (s ‘Cha‘ir and tth. ¢ has been Cl s nns s T T | T A &
;-%E,aﬂm nftﬁ*‘iq:r :' : wfﬁ'ﬁﬂm“rﬁﬁ"—ﬁf‘lﬁ

e e A




